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QUESTION 1

Which of the following programming models is supported by the WebSphere Application Server (WAS) for z/OS
environment?

A. Parallel Object Oriented
B. Java macro level (JML)
C. Procedural Architecture
D. J2EE

Correct Answer: D

QUESTION 2

Which of the following enables network devices to communicate with SNA applications in the z/OS environment?
A. BTAM

B. VSAM

C.VTAM

D. BDAM

Correct Answer: C

QUESTION 3

Which of the following is an application program defined to DB2 and managed by the DB2 subsystem, used to help limit
the number of network calls to run queries against the database?

A. User Defined Function
B. User Defined Type

C. Stored Procedure

D. Trigger

Correct Answer: C
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QUESTION 4

Which of the following is required for an MQ application to send a message to another application on a different
computing platform?

A. Establish an asynchronous communication channel to effect the transfer
B. Establish a synchronous communication channel to effect the transfer
C. Use an MQI bidirectional channel to effect the transfer

D. Use a logical MQ channel to effect the transfer

Correct Answer: D

QUESTION 5

Which of the following enables an organization to define individuals and groups with access privileges to z/0OS?
A. RACF

B. APF

C.JES

D. SvC

Correct Answer: A
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